K(III)-Economics—H-8A

2018

ECONOMICS — HONOURS
Eighth Paper
(Group — A)
Full Marks - 50

Candidates are required to give their answers in their own words as far as practicable
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The figures in the margin indicate full marks

Section - A
Marks - 20

I.  Answer any five questions : 4%5

(@) Why the Permanent Settlement Policy had been labelled as "one of
the great wrongs" of the British Government?

(b) Mention two positive and two negati i
_ ative aspects of the Managine
Agency System in India. - -

(c) Write a brief note on "Ottawa Trade Agreement".
(d) What is meant by 'Ratio Controversy'?

_ (e) What was the 'triple formula' for the selection of industries for
protection under the policy of discriminating protection?

(f) What are the main reco i i
1= mmendations of the Hi -
commission? =

(g) Mention any two causes of deindustrialisation in India during 19th
century.

(h) Distinguish between the ‘People's Plan' and the ‘Bombay Plan'.

Section - B
Marks - 30
2. Answer any three questions :

(a) What was the 'New Guarantee System’ of Indian Railways? Why

was it introduced? Was it an improvement over 'Old Guarantee System'? 24345

(b) Give an outline of the changes in the Indian land ownership and

Tenancy system introduced in the British period. 10
(¢) Describe the ways in which the transition from subsistence

agriculture to commercial agriculture transformed the Indian agriculture. 10
(d) Under what circumstances the 'Gold Exchange’ standard was

introduced in Indian economic history? Why did it break down? 5+5
(e) Critically discuss the 'Drain Theory' in the context of Indian

10

economic history.
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